
Plot[Sin[x], {x, 0, 4}]Plot[Sin[x], {x, 0, 4}]Plot[Sin[x], {x, 0, 4}]
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Integrate[x ∗ Exp[−x], {x, a, Infinity}]Integrate[x ∗ Exp[−x], {x, a, Infinity}]Integrate[x ∗ Exp[−x], {x, a, Infinity}]

(1 + a)e−a

g1 = Plot[Sin[x], {x, 0, 4}]g1 = Plot[Sin[x], {x, 0, 4}]g1 = Plot[Sin[x], {x, 0, 4}]
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T1 =T1 =T1 =

Table[{{30/360 ∗ 2 ∗ Pi, 1/3},Table[{{30/360 ∗ 2 ∗ Pi, 1/3},Table[{{30/360 ∗ 2 ∗ Pi, 1/3},

{50/360 ∗ 2 ∗ Pi, 2/3}}]{50/360 ∗ 2 ∗ Pi, 2/3}}]{50/360 ∗ 2 ∗ Pi, 2/3}}]

{{
π
6 ,

1
3

}
,
{

5π
18 ,

2
3

}}
g2 = ListPlot[T1]g2 = ListPlot[T1]g2 = ListPlot[T1]
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Show[g1, g2]Show[g1, g2]Show[g1, g2]
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Show[sf1, g3, g4]Show[sf1, g3, g4]Show[sf1, g3, g4]
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DSolve[x ∗ y′[x] == 4− y[x]∧2, y[x], x]DSolve[x ∗ y′[x] == 4− y[x]∧2, y[x], x]DSolve[x ∗ y′[x] == 4− y[x]∧2, y[x], x]{{
y[x]→ − 2(e4C[1]−x4)

e4C[1]+x4

}}
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